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Answer ALL questions. Write your answers in the spaces provided.

Some questions must be answered with a cross in a box [X. If you change your mind about an
answer, put a line through the box £¢ and then mark your new answer with a cross [X.

Scenario

The activities in this paper are based on this scenario.

You should read this scenario carefully before you start the activities.
Complete all the activities.

Damian Jones has been interested in crafts since he left art college. This interest led
him to set up a candle-making enterprise. The enterprise also offers candle-making
workshops.

Damian started the enterprise three years ago. He is not experienced in managing the
finances of an enterprise and finds this part of running his enterprise difficult.

Damian makes the candles himself. One area of the enterprise he is keen to expand is
the candle-making workshop sessions where customers can create their own candles. In
recent months, the number of customers for these workshop sessions has fallen. Damian
is not sure why this is happening, but it is affecting the profits of his enterprise.

Damian wants you to help him improve the success of the candle-making workshops,
and to help with the general financial management of the enterprise.
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Activity 1

Damian has a number of questions about the appropriate financial documents to use in
his enterprise.

1 (a) State the name of the financial document that is used to check materials when
they arrive from suppliers.

(1 mark)

(b) Complete the diagram by drawing arrows to match the financial document to its
purpose. An example has been completed for you.

Financial document Purpose

Credit note To list orders and payments made

To correct an error on a customer

Purchase order
account

To confirm a customer has paid

Receipt a bill
Statement of To identify goods ordered from
account a supplier
(3 marks)
\ J
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In the past Damian has made a mistake on his invoices, which meant that customers
were asked to pay too little money.

(c) Explain one impact this mistake would have on the finances of the enterprise.

V3UY SIHL NI 3L¥M 1ON OQ
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(2 marks)

Damian sells his candles in both Business-to-Business (B2B) and Business-to-
Consumer (B2C) markets.

(d) Explain one benefit to the enterprise of Damian choosing to sell the candles in S S
the B2C market. 555
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(Total for Activity 1 = 8 marks)
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( )
Activity 2
Damian has delivered an order to a customer and now needs to be paid. He has sent you o e
the following email giving information to include in his invoice. :CZD:-_ SR
§ies L
Hello = T
Can you create an invoice for me for AJ Craft Supplies Ltd? Iﬁ . E
me S
« 250 scented candles priced at £8.50 each E 3 g
X o5
« 275 candles priced at £4.00 each .;Z 2 '5
: =
RS SR
As a loyal customer they should get a 10% discount on their order. s '8
Postage and packing should be charged at our standard rate of £40.00. 3
Thanks,
Damian S S
1\ J St R s
2 (a) Complete the Total Price column in this invoice. i;:;f
Invoice Number: 7916 Invoice to:
-
AJ Craft Supplies Ltd %X
437 Sudbury Terrace //_X
se
Dunholme ?§>§
A
NN27 4JX gg
Quantity Item Description | Unit Price Total Price ;§K
S
S
250 Scented candles £8.50 (1) s
' )Q
275 Candles £4.00 (1) S8R
Total Price (1) s
o
Customer discount 10% (1) %q
O
Subtotal (1) §
Postage and packing £40.00 ;
Total to pay (1) ;i
(6 marks) %)\
\ J
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When Damian sells his candles, he accepts a number of different payment methods.
One payment method that he accepts is cash.

(b) Give two other payment methods that customers can use to pay Damian.

Method 1

(2 marks)

(c) Explain two impacts Damian would need to consider when allowing customers to
pay for goods with cash.

Impact 1

(4 marks)

(Total for Activity 2 = 12 marks)
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Activity 3

Damian needs to do some analysis of the enterprise’s finances. He asks you to help him.

Nog

(a) Complete the extract from the statement of financial position.

Extract from Statement of Financial Position
as at 31 December 2018

K

£ £ e
Iz
Fixed assets 66 500 g\\
Current assets 7 450 oy
Current liabilities 3400
Net current assets (i) (2)
Net assets (ii) (2)

Show your workings in the spaces below.

(i) Net current assets

(ii) Net assets

(4 marks)
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Damian wants to know whether he has been able to pay his debts in recent years. He
has given you the following figures for last year.
2017
Current assets £9 000
Current liabilities £6 000
Damian gives you the formula for working out the current ratio.
Current assets
Current ratio =
Current liabilities
(b) (i) Calculate the current ratio for 2017.
(1)
( )
Currentratio = ...
- J
Damian gives you the formula for working out the liquid capital ratio.
The amount of inventory is £5 400.
Current assets — Inventory
Liquid capital ratio =
Current liabilities
(ii) Calculate the liquid capital ratio for 2017.
(1)
( )
Liquid capital ratio = ...
- a P J
(2 marks)
J
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Damian has predicted what the financial state of his enterprise might look like in
2019.

He has found that net profit is predicted to be —£769.

(c) (i) Give one potential cause of an enterprise’s predicted net profit being
negative.

One method that Damian could use to improve his predicted net profit is to advertise
the enterprise.

(c) (ii) Give one other action an enterprise could take to overcome the cause of the
predicted net profit being negative.

Damian wants to invest in his candle-making workshops by buying new equipment.
He could save up to pay for this or take out a bank loan.

(d) Explain two advantages for the enterprise of using a loan to finance the new
equipment.

(Total for Activity 3 = 12 mark)
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Activity 4

Damian wants to ensure he will get enough customers to cover the costs of running the
candle-making workshops. He has forecast the number of people he thinks will attend.

Damian has produced a break-even chart.

4 (a) (i) Label the lines marked A and B in the break-even chart.

Break-even Chart for Damian’s Workshop
1600

1400

1200 B

1000

£ 800

600

400

200

0 10 20 30 40 50 60
Number of Visitors to Workshop

(i) Identify the number of customers required for the candle-making workshops
to break even.

The margin of safety shows the number of sales that the enterprise has above the
break-even point. It is calculated using this formula

Margin of safety = Number of sales — Break-even point

(iii) Calculate the margin of safety if the candle-making workshops have
55 customers.

12
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Damian is considered using break-even analysis.

(b) Explain two limitations for an enterprise of break-even analysis.

(4 marks)

(Total for Activity 4 = 8 marks)
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Activity 5
Damian needs to know what he should include in a cash flow forecast and, in particular, o <
in the cash outflows. : CZD S
= e
5 (a) Give two examples of cash outflows. : 9| S %
E \'-A
S S
Example 1 z2 =z
.................................................................................................................................................................................................................................................................................... :5 % \E
7 1500 Q:’s:?:
Example 2 B k=
s o
SHs s
.................................................................................................................................................................................................................................................................................... L 29
R ? %:9 :i
(2 marks) S
Damian has asked you to complete the cash flow forecast he has started. i/
sEas
(b) Complete the cash flow forecast. S
Cash Flow Forecast :
February March April May
£ £ £ £
Cash inflows
Total inflows 5400 5400 5200 (iii) (1)
Cash outflows
Total outflows 6850 | (jj) 7 250 4850 | (1)
Net cash flow -1450 -375 -2 050 1250
Opening balance (i) -250 -625 -2675 | (1)
Closing balance -250 -625 -2675 -1425
(3 marks)
L
14
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The enterprise has a negative net cash flow for the first three months.

(c) Complete the table by:

1L1M 10

‘DONOTWRITEINTHISAREA

+ in column A, giving two solutions that Damian could use to improve cash flow

De¥%®

+ in column B, stating one way each solution given in column A will improve
cash flow.

A - Solution B - Why will this improve cash flow?

X

KRR

(4 marks)

(Total for Activity 5 = 9 marks)
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Activity 6

Damian is looking at the way in which he can use his promotional mix to attract more
customers to his candle-making workshops.

He is considering the two following options:
« marketing the candle-making workshops to potential customers via direct mail

+ selling the candle-making workshops directly to potential customers in the local
shopping centre.

(a) Explain one advantage of directly selling the candle-making workshops through
meeting potential customers face-to-face.

(2 marks)
Damian believes segmenting his market may help his enterprise.

(b) Explain one benefit to an enterprise of segmenting its market by location.

(3 marks)
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Damian is thinking of different ways in which he can promote the candle-making
workshops with the aim of attracting more customers. He has set a budget of £500.
There are two advertising methods he is considering:

+ print
- digital.

(c) Evaluate which of the two methods of advertising Damian should use to increase
the number of customers attending the candle-making workshops.

In your answer you should include:

« an analysis of the key advantages and disadvantages of using print and digital
methods to promote the candle-making workshops

« aconclusion that recommends which advertising method would be best for
the candle-making workshops.

17

U R 0 O Turn over
s 61 9 9 8 A 01 7 1 9 urnove



{1’:’
o
S

930 :
< X < M <
SRRRIKKY SR

0“ o% ’(V;\:‘Q

SRR

I
2
e

X
o

Xl
58

553
ozzf;‘%

8

X




IS

XXX

oot
\\

SRS

statetertetes

e teotete

0
i

SRR

0005

(6 marks)

(Total for Activity 6 = 11 marks)

TOTAL FOR PAPER = 60 MARKS

—

9

s 61 9 9 8 A 01 9 1 9



